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f A Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
1,859 x 10 = 4,882 x 100 =
7,19 x 100 = 8,759 x 100 =
2,87 x 100 = 8,731 x 100 =
9,47 x 1000 = 1,468 x 1000 =
5,759 x 100 = 10, 512 x 1000 =
10,9 x 10 = 1,025 x 1000 =
5,743 x 100 = 10,351 x 1000 =
3,186 x 100 = 3,071 x 10 =
3,938 x 1000 = 7,621 x 10 =
10, 489 x 1000 = 1,237 x 100 =
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f ‘\—‘E A Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
1,859 x 10 = 18.59 4,882 x 100 = 488.2
7,19 x 100 = 719 8,759 x 100 = 875.9
2,87 x 100 = 287 8,731 x 100 = 873.1
9,47 x 1000 = 9470 1,468 x 1000 = 1468
5,759 x 100 = 575.9 10,512 x 1000 = 10512
10,9 x 10 =109 1,025 x 1000 = 1025
5,743 x 100 = 574.3 10,351 x 1000 = 10351
3,186 x 100 = 318.6 3,071 x 10 =30.71
3,938 x 1000 = 3938 7,621 x 10 ="76.21
10, 489 x 1000 = 10489 1,237 x 100 = 123.7
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